23 2 o 20 19 18 n 15 15 " 13 12 1 10 9 8 1 6 5 4 3 2

2
LEAQ04_SVC

FOR SERVICE
REFERENCE ONLY

SEE DETAIL A

LE30I 99400099 TUBE, TILT, IDLE SIDE,STPX

SW309 90702147 STANDOFF, HEX STUDIO BEAM PC
SCREWMBAC I28SP 91100612 SCREW,M6 SOCKET CAP 12 SS W/PATCH
SCREWMSAC 10SSP 91100510 SCREW,M5 SOCKET CAP 10 SS W/PATCH
SCREWM4AC25BZ 91000425 SCREW,M4 SOCKET CAP 25 BZ SEMS
SCREW8-32AC312B7 90707113 SCREW, 8-32 SOCKET CAP 5/16 AY BZ SWE
SCREWI0-14PPF0380 90709124 SCREW, 10-14 PHIL PAN 3/8 PLASTITE
LEA033 INTERNAL REAR COVER,ASM STPX

MEANWELL _USP500 990T70021EF  |POWER SUPPLY, 500W 5V MEANWELL USP500-5
LEI09 99080355 PLATE,MOUNT ING,CPU BOARD, STPX
BUSSMANN_15600_4 90412028EF  |PANEL,FUSE X 4 ATC AUTOMOTIVE TYPE
NUTM4KEP 91201204 NUT,M4 KEPS

LE450 99310501 LABEL,POWER SUPPLY,STPX

LE456 99310502 LABEL,FUSE BLOCK, STPX

LE45] 99310498 LABEL,FRONT COVER,STPX

LE302 99400100 HUB, TILT,DRIVE SIDE,STPX

LEAQI 80450099 HEAD,ASM,STUDIOPIX

FUSE_25A_AUTO 90403031EF  |FUSE,25A 32V BLADE AUTOMOTIVE
FUSE_TA_AUTO 90403032EF  |FUSE, IA 32V BLADE AUTOMOTIVE

LET0S 80270046EF |FAN,ASSY,24VDC, 80mm X 25mm,23.0" LEAD
LEA0OG INTERNAL FAN,ASM,COMPLETE, STPX

LEA009 80110063 CHASS IS, ASM,HEAD, STPX
BUSHING-HEYCO-2140 90410030 BUSHING, SNAP I"' F100

LE43] 80010213EF  |BOARD, CPU RGB LED LOGIC ASSEMBLY
ITEM NO.| QTY. FILENAME PART NO. DESCRIPTION

BILL OF MATERIALS

UNLESS OTHERWISE SPECIFIED |RELEASE DATE: CE: High €nd 2103 GRACY FARMS LANE
DIMENSIONAL TOLERANCES: |ENG: OA: AU?H;) ggé;}gzzgwﬂ
0 PLACE DECIMAL = +0.38 7
| PLACE DECIMAL - +0 25 |ME FAX (512) 832-4128 LIGHTWAVE
2 PUACE DECIMALS £0 13 [MFG: DRW svaiome® hitp://www highend.con RESEARCHa
ANGLES = £0.5 DESCRIPTION:

FOR PAINTED PARTS RerR 70| HEAD, ASM,COMPLETE STPX

ENG. SPEC. MANUAL WI-0592 [wateriaL

FINISH

ALL COMPONENTS, NATERIALS AND [ CHARTED NONE

FINISHES TO BE RoHS COMPLIANT
PROPRIETARY NOTICE: WIN._ DRAFT INTERPRET DIMENSIONS PER SI PART NO. ORAWING NO. REV.
THIS DOCUMENT CONTAINS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTEMS INC., (ALSO DBA LIGHTWAVE RESEARCH) AND IS GIVEN TO THE RECEIVER IN CONFIDENCE MIN. RADIT ASME Y14.5M-1994 ‘ N T E R N A L L E A O O 4 S \/C
THE RECEIVER ACCEPTS AND AGREES THAT, EXCEPT AS AUTHORIZED BY HIGH END SYSTEMS, THE RECEIVER WILL NOT PERMIT THE USE OF THE DOCUMENT OR ANY COPY THEREOF OR THE FLATNESS THIRD ANGLE PROJECTION METRIC _
TNFORMATION THEREIN, WILL NOT COPY OR PERMIT COPYING THE DOCUMENT WILL NOT DISCLOSE TO OTHERS EITHER THE DOCUNENT OR THE INFORMATION THEREIN, AND WILL UPOK CONPLETION THICKNESS DIMENSIONS ARE IN MILLINETERS| AT
OF THE NEED T0 ETAIN THE DOCIENT,_OR UPON DEWAND, BETURN THE DOCURENT VITHOLT RETAIHING AN OF THE INFORMATION CONTAND_ THEREIN 1N MY FORN WHATSORVER VOLUNE , ; D0 NOT SCALE [SCALE: 0.300 : [SHEET: I OF 1

T N L ] L] 8 m 16 H 7 [E] [ m R 1] 9 ® T




